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Solve by the elimination method.

4x-y=16
x+y= 14

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(A The solution set of the system is {| ]
(Simplify your answer. Type an ordered pair.)

(8. There are infinitely many solutions.

C1C. The solution is the empty set.

Solve by the elimination method.

3x+5y=6
~3x+y=30

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

A The solution setis {[7]}. (

(8. There are infinitely many solutions.

wlify your answer. Type an ordered pair.)

()G There is no solution.

Use the elimination method to solve the system of equations.
Sxty= 18
Tx-3y= 56
Select the correct choice below and, if necessary, fill in the answer box o complete your choice.

CJA. The solution set of the system is {[}
(Simplify your answer. Type an ordered pair.)

()8, There are infinitely many solutions.

CJC. The solution is the empty set.
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Use the elimination method to solve the system of equations.

ax+
8x+9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(A The solution set of the system is {[]
(Simplify your answer. Type an ordered pair.)
(8. There are infinitely many solutions.

()C. The solution is the empty set.

Solve the following system by the elimination  Select the correct choice below and, if necessary,
method. fill in the answer box to complete your answer.
3x=Ty=27 A, The solution set s {[]}.
—Sx+dy= —45 (Simplify your answer. Type an ordered
pair)

()8 There are infinitely many solutions.

()C. There is no solution

Use the elimination method to solve the system of equations

5x-2y=0
10x+9y=0

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(JA The solution set of the system is {[]
(Simplify your answer. Type an ordered pair.)

(8. There are infinitely many solutions,

()C. The solution is the emply set.
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Solve by the elimination method.

-x+ Sy=1
-2x+ 10y=2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A The solution setis {[[1]}. (Type an ordered pair.)
(8. There are infinitely many solutions.

(3C. The solution s the empty set.

Solve the system by the elimination method. Choose the solution.
Ux+12y= =7 CA (17 =T
16x-19= I8y (Twa )

8. no solution

(€. infinite number of solutions

Solve the system by the elimination method. Choose the solution:

40x+20y = — 13
16x - 19= 50y

(A no solution

os. (—27 —m]
2327 290
3¢, infinite number of solutions

Solve the following system by the elimination method.
4x-8y =8
8x—16y = 20
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A The solution set of the system is {[ 1]}
(Simplify your answer. Type an ordered pair.)

(8. There are infinitely many solutions,

1C. The solution is the empty set.




